Fri2 s FEMBREE - REXBRIANKR

2T

No. ¥ B 4 % it B % 5t %k
1 |3 MRS O O 1 RS 490, 320 |=HET 7 7 v — X (K)
2 | B BRI R AT RS 388,800 | (1K) katf A BT
3 | R RS RS 668,520 |¥~ Y7 R 2T A (#K)
4 |BEOEEES 3,888,000 |(#f) AT —VH—t AREE
5 |WRIF S BRI 54,000 | (k) 2T —2 % — b ZREE
6 | EIEHES 4,147,200 |BEFBIRE L A T F o A BEHE
T|EEY R YT T A S 1,934,669 | (kk) 52/A
8 |FIARIRHLEES 1,842,324 (B VA N T v AT v
9 |8 - 9REMIATR TS 226,800 [ LT =717 (k)
10 | 8 BB T S 162,000 [~ w2 R 25 A KK
1|7V RNy T IEREY 276,048 [HESIRE LA 7 F o A FHLE
1274y RRAY R YT T A3 204, 743 | (BK) KA
13 |fiik~ v AT AR 75,384 () A
14 | A& T ER 35,388,576 |FEFGIRE /L A 7 ) v A RRAE
15 [V B 11,321,334 [BEEIRE L A T F o 2GRS
16 | BEAR A 25 812,592 |t = il (k)
17 [ZEE A N E PR 2,245,595 | (™) AfEH S A= A 7 —
18 |F-BEHEORST IR 2ETS 3,110,400 (=457 7 7 v vo— X ()
19 [MAEA VT A— a VMRTFED 777,600 () 1 TZ U=A bk
20 | T IR Ve IR T 675 413,424 |HARA VX > 7 (BR)
21 | ZZ R PR AT AR S 999, 000 | (BR) A—7 v 7 AT AT LHIET
22 | — MR BETEM AL IR TS 226,870 | LEE IR (BK)
23 | F R T 3 369, 036 | (#k) 4237
24 | ZE A BR RO IR ST S 216,000 |(#k) ¥~ K
25 |FREL E IR ST AR TS 324,000 | (KR AHRR
26 |2 % U F U TARSF SRS 293,976 [/XF Y =v 7 EST V=71V 7 ()
27 |IMERIR S E 3 162, 000 | A= 2= (%)
28 |PEXEZETS 259, 200 |EHFEENH T BT
29 | BAIRRR A PR NT AR S 669, 600 |(#k) ¥~ K
30 |2 U D IR T RS 125,280 | (F) BB BIERY — 2

a B 72,073, 291




T2 OFERREE - REXBRIANKRR

2T

No. ¥ ¥ % % it B % 5t %k
1 [t — L= D RTEHS 25, 920| (#K) U A /L
2 |EEREE RS 6, 998, 400| (BF) A 7 — T — RS
3 |BEMR AT (RIEF) 35, 388, 5T6[REB L E L A o7 F o A EFL A
4174y bARRY R YT T AREK 209, 629 (k) /A
5 | VRHYTITAROY ) —= 7 ¥ 1,974, 983 | (1) 2 /A
6 |fE HFHEILR D I RIRUES 2,175,622| () LA F T v AT v~
T |BEES 1,944,000 (Fp) LA F T > 2T v
8 | L_— & — (AT SR T 3, 110, 400| = K57 7 7 1 ¥ — X (£f)
9 BB MRS RRAR ORST SRS 490, 320| =¥E7 7 7 1 o — X (FR)
10 (EieaE s O5W) 16, 099, 164| Xf5 £ /L4 — 1 X (FF)
11 (b, PERITE AR T 7 A FERTE 429, 580| KB £ /L — % (F)
12 [FEH WA N EBER 2,245, 595 (AtE) RikGHT v A S— M & —
13 |eqis 2 812, 592|t =1 A _EARHL (BF)
14 [JBA 7+ A= a AARTED 842,400/ (#%) I TZ U =A k
15 |k~ > v e St 75, 384| () Y= A
16 |FHAS 5Y E 25 162, 000 | i [ 2 ()
17 [(RHLAERR 7 L — R T v 75 194,400( () 7 277 V= A K
18 | e e e o B B PR A A 2 5 486, 000 | B A — F 3 (FF)
19 [=a—A Y—a ¥ — NHHED 180, 000| 45 i #H
20 |55 & L kEES MRS 311, 837| 4 &
21 |55 S LERERNINE S < HEER 655, 344 | il 4= H H AL 2
22 | M A VBRI LA ROERS 641, 520 H A L2 v 7 (KR)
23 | 9 BED D U o [ H R ST AR 125, 280| () FES @EH —E 2
24 | B B ER O A A 1,026, 000| (BF) A—7 v 7 v AT KHZEH
25 | 2 A — VB S RS AR 668, 520| ¥~ Y7 R AT A (BR)
26 | 8 PR & DM B B R R T miAs 162, 000| ¥~ ¥ v R 2T A (BR)
27 |72 G R e AR R O R R BRI 275 216, 000| (KF) ¥~ k
28 | BRI PR NT R A% TS 2,970, 000| (BF) ¥~ k
29 | 7 VT MAEERST SRED 293,976\ Y=y 7 ES=r V=7 ) 7 ()
30 | 2 P A — VBB R RR (R PR ~T Al A 388, 800 | (k) FaFT BB LA E T
3L | REA v =ATT 0 RET ) RBRER 124, 500| (#F) #A R HAm =
32 | 8RR X DM, 9 MDD U DM RBALRST ik 226,800 HE L T=r=7 1 7 ()
33 | — AR FEFEM IS S L F R S 271, 868| L E&E I (k)
34 | ARV — SRS SR 637,000| 5 ¥ 1 v 7 ZAREE (BR)

a B 82,564, 410




T3 OFEMBREE - REXBRIANKR

2T
No. ¥ ¥% a % it B % 5t %k
1 [t = MRST AR 637, 000| 5 ¥ m v 7 ZRERE (KK
2 [BEA T+ A—a VIRTFES 842,400|(BR) T TZ VA b
4 |74y bRRAV R T T A BH 220, 619| (k) 54
5 |BEEEY 3,888,000| (B L A N F AT
6 | VR TITAROY V—= 7 ¥ 2, 080, 171| (BF) /A
T |BIRRR R R AT RS 2,970, 000| (KF) ¥~ b
8 |HEA R PR 3,888, 000| (Bk) A 7 — ¥ — B AFEE
9 [FEHFMA N EIEE 2,488, 475| (Ath) RikGHT v A S— Mt v & —
10 (FBBRIFE B 162, 000| (#k) A 7 — U — B AFEE
11 [t A— D= DIRST ¥ 25, 920| (]K) U 1A /L
12 | — e HE S S AL P S 5 251, 128| L E& I (%)
13 | A LR AR IR MR P RS 975, 58| HA I L 2 v 7 (£f)
14 (T8RS 2E14R 2 H R 1R I 36 s 2,052, 000| (BR) LA T AT v
15 | e E B (RIH%) 35, 388, 5T6|HEB IR /L A 7 F o A AIML G
16 | 2615 812, 592| = 1 _AZ 8 (k)
17 |Eie & E B (15W) 16, 099, 164 K5 £ /14— A (KK)
18 | = L _— & — R ik ¥ 3,110, 400| =F57 7 / 1 ¥ — X (kR)
19 B MW SR TR ST R R 2E 490, 320| =KE7T 7 / v o — X ()
20 |k~ o o SR 75, 384| () Y= A
o I{%fiﬁ%g%%ggig - 1,000, 000| (—#k) VEEEHE
22 | BT E2ERS 162, 000 | i [ 2= )
23 ﬁ(gﬁﬁggé RIS E &AL 1,120, 118|(BR) L A R F AT >
22— v 7 A—/b Spring Concert
24 |~TEH ATV XN B ~ 625, 000| (F) 7~ &
HEE S BT 2 EB &Rt
95 i%ﬁ%imﬁu&zﬁl%%it\ VEARIZE AT 7 A 55 s 2 659, 880| A /L — £ % (1)
26 | 8 BT 0 & D[R E BRI R T AU 162, 000 ¥~ /H 7 R 2T A ()
27 | 2 7R — VBB EER ST R 668, 520| ¥~ P v R R T A (BE)
28 |Windows10 0S7 v 77/ L — R{E# 162, 000| (¥k) A4 % ¥
29 |V % U7 U T MWEEERST RRCER 293,976\ YV =y 7 ESx= V=71 7 ()
30 | 2 PE AR — /LS R R PR NT A A 388, 800 | (k) Fakt EEHE R ERT
31| 8T D], 9> L ORIMIALRST SR 226, 800|HEL T =71 v 7 ()
32 | 9 B> U DRI BT SR 125, 280| () FE Rl B¢ — ' 2
B|\AXA LT A T TV RET ) HREE 124, 500| (BF) #2 PR 2SR PEH 2
34 |ZE AR T A AR AR I PR 2 BR Bk IS 2 216, 000| (F) ¥~ K
35 | E B ER I A A 999, 000| (BK) A—7 v 7 ¥ A7 LFZEH]
a HJ 83, 587, 781




SHNTEERREE - REFHFRIRR

2T

No. ¥ B 4 %z it B |&E R
1 [t = MRST AR 636,378 |ELtYw v 7 ABEE (1K)
2 (B A v T x A= a VAP RFEE 206,228 |{(BR) I TZ V== A b
3 [MEA T A= a URFER 850,200 [(#R) I TZ U=xA b
4 | — DR — DRSPS 25,876 | (k) U %A /v
b |BEMR AT (BRIEF) 36,826, 740 |BEBIRE L A T S v A RIS
6 | aEE (5 18, 857,000 [KE5E/LH—1E X (f§)
T | L _— X — RS SIRER 3,139,200 |=XF7T 7/ mo— X (BR)
8 | BRI R T R S 10, 191, 500 | (#K) ¥~ k
9 |#EH BYIRST RCERS 566,800 (=57 7 / m v — X (BF)
10 | 22 aRAR PR K T AL AR S G PR 22 BRSO IS S 218,000 | () ¥~ b
11 | R VB~ L— 2 — 711,000 |BFR BA
12 |[R— VR A~ L— & — 682,500 | ALEE
13 |eqis 2 820, 116 |t =2 & _EARHL (BR)
14 | — iR PEFEW I S AL PR S 5 229,572 | EEBE IR ()
15 | A LA AR P RE RS 984,793 |HAL LI v 7 (FR)
16 |VRHTIA RO Y —=2 TR 2,153,027 | (#) /A
17|74y A URHTT A5 237,976 | (FK) /A
18 [ZEFEWA N E PR 2,519,000 |(Afh)RikGET > A S— AME & —
19 | 8 P& IT R0 & DB BB P T AR 165,000 |¥~ BT R 2T A (B
20 |7 — /LR PR SRR 709,500 [¥<w YT KU AT A (BR)
21 |v v o7 U T HBEEERST AR 299,420 [XF Y =v 7 LSV =7T U7 (F)
22 | A — /L FRBHER R R T 407,000 | (BR) FAFT e BT
23 | i DA 231,000 | 402747 7 ()
24 | 9 DD U D[R] B PR <F A 127,600 | () BB IBERY —E X
25 |ABA v T A T T RET JARSFRRER 126, 805 | (BF) #2224 ERPE &
26 | B Bl R i A S 1,045,000 |(BR) A —T7 v 7 ¥ A7 LR
27 | AR E S L2 W A 2 2,860,000 | () ¥~ b
28 | E W PR T R S 324,000 | (B) A FF5% G
29 |k~ v v EH AR 75,384 | () B A
30 |RBIARBIEXER 198, 000 |Aiif == (k)
31 [TEVAFZEIC4R D Rl iR IS 2,587,769 |(BH) LA RTF 2T
33 |55 6 [l Ll 24 BR e 255 206, 000 |HEFS LA IEE
3 |G FEE N —2 T4 T HEER 250,000 |77 bm - 77— 7
35 | S HBEANY h oy aarY— NHEER 838,078 |77 hm - 7u—77
36 |G HBET « T —FF b —2 T A TIRERIZEES 340,000 |(BR) LA R T AT
37({CaveVr R7T—h T4 7THEES 490,000 [(Bf) e scor t

= &t 91,312, 462




T2 EERREE - REFFHRIRR

G ))

No. ¥ % 4 % Gt ¥ % it &
1 (BB AR SR R PR 5T AR S 572,000 |=¥g7 27 / v v— A (1K)
2 |5 E R RR AR DR T AR 407,000 | (BR) AAF A LT
3 |EEEMEES (R4 ~L—2—¥F) 247,500 M ALEZ. B BHA
4 |ARA T2 AT T2 RET ST R ER 126, 805 | (k) xR EsaRpsH 2
[ s )
6 | A — VBB PR T RS 709,500 |~ NPT KU AT A (BR)
T | AEE R () 25 18,771,917 [ KB E/LH—1E A (KR)
8 |EE BB (RIES) 37,164, 600 |FEREE L A VT F v AW FEMLE
9 MEBY R YT TARDT Y —=0 T ¥E 1,346, 773 | (BF) 2 /A
10 |74y FRRY R YT T A ZEHK 199, 561 | (BF) Ze/A
11 [(fERFEEIHR D R s 1,287,495 |(B VA R T v AT
12 8%%§%£Eﬁéggou@ﬁ 231,000 |HZ 545 v 7 ()
13 | 8 BT R0 & DI B R O ST Al 255 165,000 (¥~ P R 2T A (K
14 | 9 B> U DM E R R T R 255 127,600 |(CR) BESBIEHT —E X
15 [k~ > v W SRR 76,780 |(F) VA
16 |7 4 v bR AT T 7 EEIEE £ 32,420, 696 | > =t — R — (£F)
17 [JHERS 27K it e AR 2 5 165, 000 | A E/LH— B Z (BE)
18 |BAR A 25 827,640 | = & Ak (F)
19 [ZEFEWANFHES (Lo sFHRES) 2,609,915 | (40 A& v A N— AbE v & —
20 | LR — B — ST S S 3,168,000 |=FE7T 7 / m—A (BF)
21 |F-BRISE IR T SRS 299,420 [NF Y =w I LS =7 U 7 ()
22 | M A VTR MERF I B 993,828 [HAL /LI v 7 (BR)
23 | B Bl BEER i AR TS 1,017,500 |(BR) A—T v 7 > AT LHIEL
24 | — WX BEFTM IS S LB S S 202,510 | EE&JH (k)
25 |22 HER BT AE R R 2 BR kIS S TS 220,000 |(#) ¥~ b
26 |G E I IRST RS TS 374,000 | (k) A %7
27 |BNIRER i PR T AR S 3,025,000 |(#F) ¥~ b
28 | LOBETE 1A B 2 Yk ML 265 187,000 |=t—== ¢ (¥
29 | 5 IR A EL S = B WG ¥R 145,750 [ KFmE/LH—E X (FR)
30 (MR IEZ R FLERS 224, 859 |h@EREFLHIEFH AT
31 [(MBA v 7+ A— a VRTFER 858,000 [(BR) 1 TZ U=A K
32 [ A v 7 A= a VA= —RTFES 208,120 |(B) 1 TZ VA
33 |MATY 2 198, 000 | A 2= (%)
34 | b4 SE S 150, 150 | (BK) TLOERERS SO
35 | NS — B — DARSF S 19,560 | () U A v
36 [AFEH—MRST R 573,168 & LEw v 7 ZABEE (bF)
3T |G BN oo v — NHEER 444,796 |up c om i n g (§R)
38 |ma—oA v—a P — b HEHES 150,000 {up c omi n g (k)

= H) 109, 952, 743




